קורס תכנות-תרגיל מס' 1

דוגמא לפתרון
1) תיקון טעויות בתוכנית 

דוגמא לתוכנית המתוקנת:

#include<stdio.h>

int main()

{

  printf(" o o \n");

  printf("  | \n");

  printf(" \\-/\n");
  return 0;

}

2) אות שמורכבת מאותיות 

תוכנית עבור האות   A:
#include<stdio.h>

int main()

{

     printf(“      *       \n”);

printf(“     * *      \n”);

     printf(“    *   *     \n”);

     printf(“   *******    \n”);

     printf(“  *       *   \n”);

     printf(“ *         *  \n”);

printf(“*           * \n”);

     return 0;

}

